Lab 5 
	Aim of the lab
· Correlation
· Linear regression



Scatter plot
1. Suppose you want to investigate whether child’s birth weight (bwt) is related to weight of mother at last menstrual period (lwt). Draw a scatter plot of these two variables (h scatter) and describe it.
2. Calculate the Pearson’s (h pwcorr) and Spearman’s (h spearman) correlation coefficients and test the hypotheses that the population counterparts are zero.

3. Estimate a linear regression model with child’s birth weight (bwt) as dependent variable and mother’s weight (lwt) as independent variable. Interpret the coefficients’ estimates and the value of R-squared (i.e. coefficient of determination). Write any assumptions you have to make.
4. Inspect the validity of the model in question 3 by assessing the residuals. Use the command rvpplot lwt (h rvpplot).
5. Suppose you want to test whether mean birth weight (bwt) varies over race categories. Verify that the linear regression model (regress bwt i.race) is equivalent to ANOVA (oneway bwt race). Interpret the regression coefficients
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